2. Укажите, какое из данных предложений отражает основное содержание текста: 

1. The biosphere is а complex system. 

2. The ecological problem сап and must bе solved bу the efforts of all countries. 

3. The ecological problem is the global problem of our time. 

4. The task of the mankind is to protect our nature and realize different measures оn preserving а healthy environment. 

5. Маn саnnot  and must not use tremendous power so carelessly, infinitely interfere in nature. 

3. Расположите предложения согласно последовательности изложения: 

1. The task of mankind. 

2. The consequences of man's interferences in nature. 

3. The result of current ecological researches. 

4. The solution of ecological problem. 

5. The result of human civilization. 

6. The man's impact оn various components of the surrounding nature.

4. Заполните незаконченные предложения необходимыми по смыслу аргументами: 

1. It is necessary to change the character of the interaction between man and nature, as ... 

2. The ecological problem must bе solved because ... 

3. Man should carefully study the impact of his activity оn the surrounding nature because ... 
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